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PART A - MAT

01. If Nishant is the brother of Brijesh, Mitali is the sister 01. gfe ferer, faoter @1 @8 ©, fared, fena o
of Nishant, Jai is the brother of Purnima, Purnima 984 ©, 91, qﬁhﬂ DT TS B, Qj%(ﬂ:” [ESHEIES]
is the daughter of Brijesh. Who is the uncle of Jai ? g | S/ Bl ardl dId 8?
(A) Brijesh (B) Mitali UNREER (B) fdreft
(C) Nishant (D) Purnima (C) fereria (D) gferr
02. Amit walks 2 km south, turned right and walked 1 02. 31 2 fobHl <RI Bl SR erell ©, a8T | <Y
km, again turned North and walked 5 km, turend gedi 2 3R 1 B eTe &, The STk & 3IR
East and walked 5 km. How far is he from the el © 3R 5 fHl Ferdm 8, fhe gd T IR el
starting point ? %WSWW%IG’S’W@@@IW
R E?
(A) 3 km (B) 7 km (A) 3 km (B) 7 km
(©) 5 km (D) 6 km (©) 5 km (D) 6 km
03. I went 15 m to the North, then turned West and 03. # 15 Wrex SN B IR AT, e ufday o 3R
covered 10 m, then turned South, and covered 3 qsl 3R 10 Hrex T, fh gfeyor & 3R qs,
m then turned East and covered 10 m. In which 3R 5 HIex gaolT, fhe q\?j EARIES qsI 3R 10
direction am | now from my starting point ? Hrex Tt | 319 H 31U yNfRia fig 9 forg
R ¥ €2
(A) North (B) South (A) TR (B) f@ror
(C) East (D) West (©) tj\_gf (D) uf¥em
04. R earns more than H but not as much as T, M earns 04. R,H@ST@‘CBQ)HIGI £ fh T R 78 M. R
more than R. Who earns least among them ? A fF HET S | SR G HH B BT £?
(A)H (B)R (A)H (B)R
OT D)M ©) T (D) M
05. Saran is eighteenth from the right end in a row of 05. WA 50 TTSd! &) T Ul F Tt BR A soRed
50 boys. What is his position from the left end? R TR 2| ¢ B W SHHT @I R’ 82
(A) 32 (B) 35 (A) 32 (B) 35
(©) 33 (D) 34 (©) 33 (D) 34
06. If GLARE is coded as 67810 and MONSOON as 06. e GLARE @l 67810 31k MONSOON @
2395339 then how can RANSOM be coded ? 2395339 @ w7 # BrS fHaT T £ O RANSOM
B DY Bre Har S Foar 57
(A) 183952 (B) 198532
(©) 189352 (D) 189532 (A) 183952 (B) 198532
(C) 189352 (D) 189532
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07. Count the number of triangles in given figure. 07. & T enafa # et @ e |
(A) 38 (B)39 (A) 38 (B)39
(© 40 (D) 41 (C) 40 (D) 41
08. In the following question, select the missing term 08. fFreferRad wee & fau My fipedi #§ & ow ue
from the given options. STd BT |
3,6,12,24,7, 96 3,6,12,24,7, 96
(A) 84 (B)50 (A) 84 (B)50
(C) 52 (D) 48 (C) 52 (D) 48
09. Which set of letters when sequentially placed at the 09 ArferRad aeRi BT B AT TIE el I 9
gaps in the given letter series shall complete it? AT T S TE AT STl BT TRT T ?
m_1_mi_m_im . . .
N — = m_i_mi_m_iim
(A) immm (B) imim (A) i (B) imim
(©) immi (D) miim (C) immi (D) miim
10. Eive coaches P, L, R, M,Qare ina.row. R is to the Y i ST P.L.R. M. O T TR # & |R. M <
right of M and left of P. L is to the right of P and left SN I -
of O. Which coach is in the middle? NP aRe] LPe SRER 0% ¢ &
H BT 1 DA 87
(AP BL
A)P B)L
©OR (D)0 (A) (B)
(OR (D) O
SPACE FORROUGH WORK
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PART B - PHYSICS

11. Momentum is a. 11. WA B°
(A) Vector quantity (A) e T
(B) Scalar quantity (B) arfeer wf3r
(C) Fundamental quantity (C) #iferss A=
(D) None of the above (D) SWRH ¥ ¥ Blg 81
12. A body P has mass 2m and velocity 5v. Another 12. % i€ P &1 A 2m 3R O 5v T W fis
body Q has mass 8m and velocity 1.25v. The ratio Q & SIHM 8m 3R AT 1.25v 28I PR Q &
of momentum of P and Q is. AT BT AT &
A)2:1 ®B)1:1 A)2:1 ®B)1:1
O1:2 D)3:2 O1:2 (D)3:2
13. A horse while running at a constant velocity of 15 13. U grel 15 ms™! @ ReR a1 ¥ Sred I9I 3000
ms™', develops a momentum of 3000 Ns. The mass Ns &1 FdT fABRIT BT & | 8ls BT SIH o—
of horse is.
(A) 180 kg (B) 300 kg (A) 180 kg (B) 300 kg
(C) 200 kg (D) 250 kg (C) 200 kg (D) 250 kg
14. A vehicle has a mass of 1500 kg. If the vehicle is to 14. Udh dI8- Bl S 1500 Tt & | afe ars—
be stopped with a negative acceleration of 1.7 ms?, Pl 1.7ms? & RUMHAD RO B T12J b1 B, <l
the force of friction between the vehicle and road is. I8 3R Fsb & d9Id g8 g © |
(A)2250N (B)-2050 N (A)2250N (B)-2050 N
(C)-2550N (D) None of these (C)-2550N (D) None of these
15. Impulse has same unit as that of. 15. I BT ShTs fhdd I B |
(A) Force (B) Pressure (A) 961 @ (B) <91@ &
(C) Momentum (D) Moment of force (C) | B (D) 91 Sﬂqﬂf
16. Impulse 1s equal to. 16. 3ITT ERTER &
(A) The change in force (A) 9 ® uReacds &
(B) The change in momentum (B) | # uRecs &
(C) The change in velocity (C) o7 # uRadH &
(D) All the above (D) SWIDh Tl
SPACE FORROUGH WORK
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17. The rate of change of displacement with time is. 17. I B A1 fAReue # gRada o) ©1 B
(A) Speed (B) Acceleration INEIE! (B) TR
(C) Retardation (D) Velocity (C) Hear (D) o
18. In the velocity - time graph, AB shows that the body 18. W—TTT ITh H, AB <91idT @ fob TR DU T |
has.
ke A
t t
(o B = o= B
(A) Uniform acceleration (A) THEHTT @RI
(B) Non-uniform retardation (B) SR wedn
(C) Uniform speed (C) Ve ard
(D) Initial velocity OA and is moving with uniform (D) URM® I OA 3R Vs FHF Hadl & &1l
retardation AT e &
19. In the given velocity - time graph, AB shows that 19. T T FT—THT % §, AB <o £ 5 TR B
the body has. g R
oA B A B
t t
(A) Uniform acceleration (A) THEHTT T@ROT
(B) Uniform retardation (B) UHEH wedT
(C) Uniform velocity throughout its motion (C) arah q;@[ Ry & <RE Th GHN AT
(D) None of these (D) 51 9§ ®1E T8}
20. The velocity - time graph for a body with 20. T TIRY ATl oY fifs & fore a—awa I
nonuniform motion is a. =
(A) Straight line (A) TR T
(B) Straight line parallel to x-axis (B) x—31eT & TR Wit et
(C) Straight line parallel to y-axis (C) y—31eT & FATTaR At v
(D) Curved line (D) gHITGR T
SPACE FORROUGH WORK
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PART C - CHEMISTRY

21.  Which of the following has the strongest | 21. fFreaforRad # | fheH d @& Ao UR Had
interparticle force at the room temperature? AT JAARURATIAI g BIaT &7
(A) Nitrogen (B) Mercury (A) TggIoH (B) a1
(C) Iron (D) Chalk (C) <raT (D) dTH
22, What is volume of gases? 22, il &1 emuds @ B
(A) Definite (A) i
(B) Almost Nil (B) <ITHIT <[
(C) Large (C) gt
(D) Indefinite D EIRIECK]
23. The change of state from solid to liquid known 23. SN U &J 3R H URddd Bl $el ol ©
as — =
(A) Fusion (B) Boiling (A) Helg= (B) SdefAT
(C) Melting (D) None of these (C) fuererr (D) STH 9 ®Ig TE
24. Dry ice is - 24. YH T & —
(A) Water in solid state (A) UMl SN 3raRer H
(B) Water in gascous state (B) Ul T aravernm #
(C) CO5 in liquid state (C) CO, =@ 3rawr #
(D) CO, in solid state (D) CO, oI 3raver #
25. The boiling point of water on kelvin scale is — 25. Bfeod T IR ST BT FaRHEIG & —
(A) 573 K (B) 273 K (A) 573 K (B) 273 K
(©) 373 K (D) 100 K (©) 373 K (D) 100 K
26. The melting point of ice is — 26, 9% @ TATID © —
(A) 0°C (B) 4°C (A) 0°C (B) 4°C
(C) 5°C (D) None of these (C) 5°C (D) None of these
27. The physical state of matter which can be easily 27 ggref @1 I8 Wi rawer o T & Haifed
compressed — frar o1 \adar & —
(A) Liquid (B) Gas (A) «d (B) i
(C) Solid (D) None of these (C) s (D) T4 ¥ @Is 8l
SPACE FORROUGH WORK
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28. Which of the following is not a compound - 28. frefoRaa # @ o9 @ dife 18 § -

(A) Common salt (B) Water (A) HMH THD (B) S

(C) Iron fillings (D) Copper sulphate (C) <z WRIa (D) PR Hehe
29. Brass contains - 29. g ¥ wie -

(A) Gold and copper (B) Copper and zinc (A) AT 3R AT (B) TMET 3R ST

(C) Zinc and silver (D) Copper and silver (C) ST 3R =idl (D) drE1 3R AT
30. Camphor can be purified by- 30. YR DI YL AT ST Hpl o

(A) Distillation (B) Filtration (A) 3MmHIT (B) e

(C) Sedimentation (D) Sublimation (C) 3rasres (D) ST

SPACE FORROUGH WORK
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PART D - BIOLOGY

31. What is the basic structural and functional unit of 31 STifaa Sai &1 gﬁ?ﬂ—cﬁ G D 3N PrIcHD
living organisms? 3PS T &7
(A) Tissue (B) Organ (A) &dd (B) 30T
(C) Cell (D) Molecule (C) BIfranT (D) 317
32. Which of the following is a characteristic of cells? 32. f=ferRaa & 9 d9—1 SIfdar @ fagar 87?
(A) They are non-living (A) 7 foita &
(B) They are capable of cell division (B) I fa¥To &=t # wetH @
(C) They are static and unchanging (C) 7 ReR 3R uRad-g &
(D) They are only found in animals (D) ¥ dact SRl # 91U S &
33. What is the control center of a cell where DNA is 33. HIREHT BT T D T & 98T DNA 9Ugid
stored? I 27
(A) Mitochondria (B) Nucleus (A) ATSCIdhif~gaT (B) ~gfdrerard
(C) Endoplasmic reticulum (D) Golgi apparatus (C) TSI HED %I(\Cdgc'IH (D) TSI SYHRT
34. Which organelle is responsible for generating energy 34, PIRPHT & fov ol SO &1 & fow diF =1
for the cell? 3T IR &7
(A) Mitochondria (B) Chloroplast (A) HISCIPIf=gaT (B) TERIIRT
(C) Lysosome (D) Ribosome (C) ATSENMH (D) IS4NH
35. What is the process by which cells become 35. g ®IF W ufehar & o g1 diftrarg fafdmse
specialized to perform specific functions? & HA & ferg fafdre g oIl 27
(A) Cell division (B) Cell growth (A) BIR@T fawTe™ (B) ®IRTaT IfG
(C) Cell differentiation (D) Cell death (C) BIfranT faves (D) BITTDT
36. What is a group of similar cells that perform a 36. v faf¥e ot oA arell w9 SIfTaRn @
specific function called? e T e clldl 87
(A) Organ (B) Tissue (A) 30T (B) Sl
(C)Cell (D) System (C) A (D) Rreew
SPACE FORROUGH WORK
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37. Which of the following is an example of epithelial 37. ffalRad & 9 & a1 Sudel SHad BT SEIERTl
tissue? 27
(A) Muscle tissue (B) Nerve tissue (A) Fush SHadw (B) T3t S
(C) Skin (D) Blood (C) <=t (D)
38. What is the main function of connective tissue? 38. TS Sl BT I BRI FIT 8°
(A) To provide support and structure (A) 9 3R GYEAT Ua™ Bl
(B) To produce movement (B) A S~ AT
(C) To transmit nerve impulses (C) TIPT M &l HATRT B & forg
(D) To absorb nutrients (D) Y% Tcal dl ATV B & forv
39. Which type of tissue is responsible for transmitting 39. GIeT 3MMNTT &l TTRA e & forv frd ua
nerve impulses? BT Hdd THER &7
(A) Epithelial tissue (B) Connective tissue (A) SUYDAT SHddh (B) WIS Hdld
(C) Muscle tissue (D) Nerve tissue (C) iUl SHadw (D) Tt Sdd
40. What is the term for the process by which tissues 40. S HfchdT bl FAT DB & ST §IRT Gclb Ay
work together to form organs? ST 91 &7
(A) Organization (B) Differentiation (A) | (B) WgHTd
(C) Integration (D) Coordination (C) TDHIHRIT (D) |A-qY
SPACE FORROUGH WORK
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PART E - MATH’S

41.  When the repeating decimal 0.45454545....... is | 41. 9 Iracit SIMAT 0.45454545....... P AReTaH
written in simplest fractional form, the sum of the f=TTcoid w9 # forar Sirar ©, © 3f9r 3iR &2 @t
numerator and denominator is : AT BIAT &—

(A3 B)11 (A)S B)11
(C)55 (D) 16 (€) 55 (D) 16

42, Afactor of x*= 6x>— 6x + 1, is : 42, xX-6xX-6x+1 B Th UGS o—
A)x+1 B)x-1 (A)x+1 B)x-1
OC)yx-2 (D) 2x+1 OC)yx-2 (D) 2x+1

43, Ordinate of a point is negative in : 43, Ud ﬁ—gg BT HIFC FKUTHD BT &6
(A) Il and IV quadrant (A) L 3R TV Fqerier
(B) III quadrant only (B) dad q_cﬁ'ﬂ ﬂ@éﬂfﬂ
(C) 1 and 1II quadrant (C) fadh ik et aqarter
(D) IV quadrant only (D) dad g aqerer

44, Solution of the equation x — 2y = 2 is/are : 44. TP x—2y=2 BT &l 8 /8 —

A x=4y=1 B)x=2,y=0 A)x=4y=1 B)x=2,y=0
C)x=6,y=2 (D) All of these C)x=6,y=2 (D) All of these

45, If 5x — 2y =k, one of the solution is ( 2, — 2), then 45. e 5x - 2y=k, (2—2) $HPI U 8l &, ql k=
k=..\Cm. AU B EBLSE BEBE B
(A)-40 (B)6 (A)—40 (B) 6
©) 14 (D) 10 (C) 14 (D) 10

46. How many number of lines does pass through two 46. QI T3 T ﬁ—ggSﬁ 3 fasr @ {L\ﬂ%dﬁl 27
distinct points.

A)1 (A) 1
(B)2 (B)2
©3 ©)3
D) 4 (D) 4
SPACE FORROUGH WORK
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47. If one angle of a triangle 1s 72° and the difference 47. i T %I’ﬂTrf B U PITT 72° © 3R T &l
of the other two angles 1s 12°, Find the ratio of PN T 3fAR 12° B, I 3= ST DIV &l Ut
other two angles. ST DIfSTU |
(A)4:5 B)2:1 (A)4:5 B)2:1
©)3:4 (D)s5:3 ©)3:4 (D)s5:3

48.  In AAOC and AXYZ, ZA= /X, A0=XZ,AC= | 48.  AAOC 3R AXYZH, ZA=sX,A0=XZ AC=
XY, then by which congruence rule is AAOC = XY q foos waftrawar 99 9 AAOC = AXZY
AXZY 87
(A) SAS (B)ASA (A) SAS (B)ASA
(C) SSS (D)RHS (C) SSS (D)RHS

49. ABCD is a parallelogram and AP and CQ are the 49. ABCD U& HHITR Iq4qs & 3R AP3IR CQ 58D
perpendiculars from A and C on its diagonal BD, fa@ol BD IR &9el ASIR C ¥ oiead &1 a9 AP
respectively. Then AP is equal to : TRER o—

(A)DP (B)CQ (A)DP (B)CQ
(© PQ (D)AB (© PQ (D)AB

50. Which of the following numbers have same digit at 50. frferRad & W fhw Ovm & gabls oIH UR 3R
its units place and at units place in its cube? D G H SHIS W TR A 3id 57
(A)243 (B) 157 (A)243 (B)157
(C) 434 (D) 522 (C) 434 (D) 522

SPACE FORROUGH WORK
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PART F - SST

51. Jacobin Club was the most powerful political 51. Sl Feld HaY ITRBTd] TSTHIdd HIT6
organization in : oT—
(A) Germany (B) Russia (A) STHIT (B) =4
(C) France (D) Britain (C) wiF (D) fac=
52. Tropic of cancer does not pass through- 32. &P T Bl o ol W‘cﬁ -
(A) Rajasthan (B) Tripura (A) JTSTRRITT (B) %FW
(C) Jharkhand (D) Bihar (C) IREe (D) faBR
53. The highest plateau of India is 33 TG B Ta o UoR &
(A) Deccan Plateau (A) TP B USR
(B) Pat region (B) Ue &
(C) Ladakh plateau (C) IEg TSR
(D) Meghalaya plateau. (D) WETeI YO |
34, Which of the following is not an example of primary 54 ferforRad ¥ 9 I94ar UTfie &5id &l SNl
activities. 81 7
(A) Agriculture (B) Banking (A) @y (B) dfpr
(C) Forestry (D) Fishing (C) an-rant (D) #SCl gbedl
55. In which countries there was no free and fair elec- 55. o1 <ol o wd= va oger Tl et el
toral competition? ofi?
(A) China (B) Myanmar (A) I (B) WA
(C) Chile (D) None of these (C) fereft (D) & ¥ ®Ig T8l
56. Which leader took Russia out of the First World 56. fobs =T =1 ¥ <1 WM fa%d g 1 TeR fHiepret?
War ?
(A) Nicholas II (B) Vladimir Lenin A) o fed (B) AR <if=
(C) Josep stalin (D) None of these (©) SR IR D) 3 & &g L
57. Investment in human capital is expenditure on :- 57 AT q\Gﬁ e a2
(A) education (B) training (A) R (B) Wi
(C) medical care (D) all the above (C) Fiftbear ST (D) SWRRH
SPACE FORROUGH WORK

Piprali Road, Sikar -332001 (Rajasthan), Contact No. 8875023160, 9257086020

Page#11



K-SAT SAMPLE PAPER - 2024

58. Which of the following Countries has briefest 58. freforfRaa & & forg <91 o1 wfdems T Wi
consitution ? ?
(A) USA (B) China (A) THY (B) oI
(C) India (D) Japan (C) 9Rd (D) ST
59. How much is the length of Kaveri River ? 59, PN ) @) g gl 3 ?
(A) 1400 km (B) 1500 km (A) 1400 km (B) 1500 km
(C) 860 lm (D) 760 km (C) 860 km (D) 760 km
60. State focused more on human resource develop- 60. Rpd YIS BT HIT G e uR 31ira
ment 1S &I B
(A) West Bengal. (B) Tamil Nadu. (A) uf¥e¥ §Te (B) e
(C) Kerala. (D) Gujarat. © BT (D) oiNTd
SPACE FORROUGH WORK
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